I I Valentine’s bracelets 44¢

Stephen makes bracelets starting with| bracelet | and using the rules below.
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To use the rules, replace each symbol on the left with one of the sequences of symbols it
points to. Repeat until no more replacements can be made. Now, the bracelet is finished.

For example, using these rules, Stephen can make these two bracelets.

o o C __GiNe o  BPCO0, @

Stephen made four bracelets for four of his friends, using the same rules. One of the friends
broke the bracelet and made a mistake trying to fix it.

QUESTION

Which of the four bracelets below is the one with the mistake?
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